POWERED BYI"‘
1l

ENDURA

DOOR COMPONENTS MADE IN THE USA

/%Zo./;

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

74.65" MAX. FRAME WIDTH -—

P.0. Box 230 Valrico FL. 33585
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Opaque Fiberglass Door O

O
1 [0

"NON-IMPACT"
INSWING / OUTSWING

|

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

©
>
PRODUCT

’—L—:I
ENDURA
LFS | PART OR ASSEMBLY

97.94" MAX. O.A. FRAME HEIGHT (INSWING)
97.125" MAX. O.A. FRAME HEIGHT {OQUTSWING)
BY

-

International Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

EVALUATED FOR USE IN THE STATE OF TEXAS
The Opaque Fiberglass Door system described herein complies with the 2018 l
Infernational Residential Code (IRC), Sections R301 & R409 and the 2018 |

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-bome debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
"design pressure rating shown in the design pressure chart, sheet 1 of this

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

drawing.
4. Conditions not covered by this drawing are subject to further engineering
analysis.

11/20/19|ADD "FusionFrame” OPTION &

P
<
a
o
z
8

TABLE OF CONTENTS
SHEET# | DESCRIPTION ' 0S

1 Typical elevations, design pressures & general notes = —= oaTE: 10/31/1
2 | Astragal defails INSWING +40.0 -40.0 +40.0 -40.0 scAe: N.T.S.
3 Door panel details DWG. BY: JK
4 Horizontal & vertical cross sections OUTSWING +50.0 -55.0 +50.0 -50.0 cHk. B:  LFS
5 Vertical cross sections DRAWING NO.:
I3 Frame anchoring SEE SHEET 5 FOR THRESHOLD DESIGN PRESSURE LIMITATIONS TX—-4895

SHEET ] oF _6

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1011 Opaque Therma-Tru FG door XX (LK, DB) (4894-4895)\C - Drawings\TX-4894-95 dwg, TX-4895

@ 2018 R.W, BUILDING CONSULTANTS INC,




R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1011 Opaque Therma-Tru FG door XX (LK, DB) (4894-4895)\C - Drawings\TX-4894-95.dwg, 2-2

(2) #8 X 1-5/8" PFH
WOOD SCREWS

LOWER BOLT SLEEVE

B / {REINF. POLYMER)

UPPER BOLT SLEEVE
{REINF. POLYMER)

(TRIM COVER REMOVED)

ULTIMATE/ULTIMATE COMPATIBLE

HURRICANE ASTRAGAL

(2) #8 X 1-5/8" PFH

ANCHOR SCREW LOCATIONS

Ty
e :
S e
-— 0.5" ;.J? =R
5y PO
i~ Bt
ATRE A
0L Y izt
RN oy
=| 9. 1D
Ol | iz
E zlh“‘ ¥§:§
o) Ve d©
@

HARDWARE LOCATIONS

BOLT RETAINERS

SLIDE BOLTRCD

ALUMINUM
ASTRAGAL

ALUMINUM ASTRAGAL ASSEMBLY

WOOD SCREWS
175" I 1.758" i
N 063" —e| = o —— 3/16" PVC FOAM SPACER
—p1j=—0.063"
P S
ULTIMATE HURRICANE ULTIMATE COMPATIBLE*
ASTRAGAL HURRICANE ASTRAGAL
(OPTIONAL)
ASTRAGAL SECTIONS
X

NOTE: INCREASE THE MAXIMUM FRAME WIDTH BY 3/16" TO ACCOMODATE THE OPTIONAL

ULTIMATE COMPATIBLE HURRICANE ASTRAGAL WHEN USED.

#8 X 3/4" PFH WS

#8 X 3"PFH WS

ol

DEADBOLT STRIKE
PLATE

/A LATCH STRIKE
“ PLATE
LATCH & DEADBOLT DETAIL

5"

l—-———-‘—— 1.63"
T’y

BOLT RETAINER
(GF NYLON|

9.5" \/

4

-—4 l<— 0.32"

SLIDE BOLT ROD
(STEEL)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.8197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
ASTRAGAL DETAILS

PRODUCT:

LFS | PART OR ASSEMBLY:

8Y

UPDATE TO 2018 IBC/IRC CODE

11/20/19]|ADD “FusionFrame” OPTION &

1

NO.| DATE

REVISIONS

oaTE: 10/31/18

SCALE:  N.T.S.

DWG. 8Y: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4895

SHEET 2 ofF 6

© 2018 R.W. BUILDING DONSULTANTS Inc.



"ON] SINVLINENDOD anNIiating ‘m s 8102 @

JZosLicd mz NOLLVALSIOSY 40 ZLVOILLNIO SNOISIATY
NOISS340¥8d 40 Quvog Svx3l SUVIIT TINVG ¥00d Ad 55 S 5E S T5E ST J1vdg JON
LBLB'6S9°CLE 'ON Suoug :
S6SEC “1d O9MIDA 0T xog .O.Q\Su@ "ATEW3SSY HO LdVd [ 517 % NOIdO  swbijuoisny, (av|sl/0z/LL| |
*ONI 'SINVLINSNOD 9NIaNg ,

JK
LFS

N.T.S.
of 6

TX—4895
S

£ZTiv0L# ‘3'd Svxal VHNAON3
*3'd IPIWYDS g uopuky kg peundeld sjuswinoog 10NCOMd

oATE: 10/31/18

SCALE:

DWG. BY:
CHK. BY:
DRAWING NO.:
SHEET

60

EXTERIOR

w60

.7

/" 2"\ VERTICAL CROSS SECTION

(COMP) ~__
INTERIOR
N

E /
[274
y 52 5 L
o O o M o o
S 58 e 33
2 @ = EO
o=
o

LOCK STILE
(ENGINEERED WOOD])

4.02"

DEADBOLT: KWIKSET SIGNATURE SERIES (980/985)

LATCH: KWIKSET SIGNATURE SERIES {991)

KWIKSET

EXTERIOR
INTERIOR

TABLE

/"1 \ HORIZONTAL CROSS SECTION

SEE HARDWARE

2 iy
D

@® o

\

e
A

HINGE STILE
(WOOD)

Therma-Tru Fiberglass

1.18"
\
36" MAX. PANEL
WIDTH
>
DOOR PANEL

‘I.l:N._..lll"

(40)

DOOR SKIN: FIBERGLASS {0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM

LHOEH TINVd XYW .ST'56

€-2 'Bmp 56-v68Y-XL\sBuimesq - D\($68Y-v68Y) (8Q 1) XX 100p D4 niL-ewsdy) anbedO | L01-¥Q - 1QL\SU} O 3daq sexa) - G\LNINVIAYId 2Inpus\suatd\y



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-1011 Opaque Therma-Tru FG door XX (LK, DB} (4894-4895)\C - Drawings\TX-4894-95.dwg, 2-4

230 2X FRAMING 2X FRAMING g,
— - o
4 \ 4/ (G>=042) - DRYWALL (G>=042) / DRYWALL o3 ..
T . vy E - 0
4 ¢ 118 V T~ ¢ \L\ p '{"E)* . § gg
. k o L h r: [77] h! O M [T
' EXT. SHEATHING  fr|]I# EXT. SHEATHING ] S TN
f 2y S l(j P 7 2 S
\ ' \ 1 S 4 ~8§ %82 2z
2y 2y L A P -n 90
/ .; ) > Ste akE
o v 14 o bl 114 et ' > i 'tf_) Qé
me - 10X 2-1/2" PFH e e g xiol & . &8® o2
e = ﬁv?))c()o S/CREW 114 o i & § 32 ey
¥ T 1y e 3 z (g oL
1/4" MAX. 1 g 5§ 9.8 5°
f #l 114 R 5028
= o ®
SEE 14 MAX. — WOOD SCREW 2 § z
SHIM SPACE E K8
. ] = 00p0o0] 3
e DOOR PANEL ! DOOR PANEL
@ X IO ——-—-—“““X S \ HEAD: PINE \ HEAD: "FusionFrame"” {1-PIECE) 2
O
: " ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP EQ
(QEBD/PE 650) (QEBD/PE 650) WS
< O
© oS3
EXTERIOR W INTERIOR EXTERIOR W INTERIOR I
D & |3 23
/ 2"\ VERTICAL CROSS SECTION 3\ VERTICAL CROSS SECTION gl S8
\U Outswing shown - inswing also approved w Outswing shown - inswing also approved g x & ©
g g T
o <
0o Q.
0.15" al 1o
CORNER PADS 1/4"MAX. e |=— C'SINK 1/4" MAX. S| [o
(TP \S NS SHIM SPACE (TYP.) SHIMSPACE  ExT. SHEATHING 8
) EXT. SHEATHING JAMB: "FusionFrame” S|0
(1 OR 2-PIECE) z|o
JAMB: PINE \ S
0.75" 0.75" 0.75" / 1 /o #10X 2-1/2" PFH ’S_i 5|8 |o
—+ —r—f[ M‘ #10X 2-1/2" PFH WOOD SCREW ol 1B
1 — = |~ WOOD SCREW e
ULTIMATE HURRICANE ASTRAGAL EI8| 12
2X FRAMING ULTIMATE MULTIPOINT ASTRAGA N e
COMPQSITE SNAP-ON (G >=0.42) ENDURA WEATHERSTRIP 2X FRAMING si= |
N CAP (QEBD/PE 650} ENDURA WEATHERSTRIP (G >=0.42) B
. \ DOOR PANEL (QEBD/PE 650) . / - é‘
% ol S
2 2
; - e
- \ N X Z NEE
3 LvL S / / - %
o / /
‘ 0 DRYWALL / \ DRYWALL [T 10/31/18
—] - #6X 2-1/2 PFH #BX "PFHSMS  #BX 3 FFH LATCH #8 X 1" PFH SMS #8X 2-1/2" PFH SME N.T.S)
1.25" 125~ | o |- WOOD SCREW S HINGE WOOD SCREW,  + 1vppy STRIKE PLATE HNCe WOOD SCREW owe. 8. JK
JAMB / HEAD JAMB / HEAD IAMB #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS chk ov:  LFS
FusionFrame”  "FusionFrame” 1"\ HORIZONTAL CROSS SECTION ORAHING NG
e Fu(?oggrgg] ¢ FU(SQI?QE?S © w Inswing shown - Outswing also approved TX—4895
SHEET 4 oF 6

© 2018 R.W. BULDING DONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1011 Opaque Therma-Tru FG door XX (LK, DB) (4894-4895)\C - Drawings\TX-4894-95.dwg, 2-5

\\

INTERIOR EXTERIOR

DOOR PANEL

ENDURA
DOOR SWEEP
(DBK-R)

INTERIOR

DOOR PANEL

ENDURA
DOOR SWEE

(DBK—ZAC)\

1/4"X 2-3/4'ELCO OR
{TW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION
\y Inswing Adjustable Threshold

4.56" !
1 INSWING ADJUSTABLE THRESHOLD

1AIL4565

T“—
t

6 INSWING ARTICULATING THRESHOLD
IACL4565

MAX. DESIGN PRESSURE = 35 PSF

“'—".6"

4.56" : !

\\

EXTERIOR

N

P

/ 2"\ VERTICAL CROSS SECTION

\5/ Inswing Articulating Threshold
w/ Pin Caplure

.

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

ENDURA

//

WEATHERSTRIP _ DOOR PANEL

(QEBD/PE 650),  INIERIOR EXTERIOR \DURA
WEATHERSTRIp,  INTERIOR
(QEBD/PE 50}

Y\ EXTERIOR

1/4" X 2-3/4"ELCO OR
ITW CONCRETE SCREW

/ 4\ VERTICAL CROSS SECTION

1/4" X 2-3/4" ELCO OR
[TW CONCRETE SCREW

1-1/4" MIN
EMB. (TYP.)

/3" VERTICAL CROSS SECTION
W Outswing Bump Threshold

I A ) A
8 =W <> 3 8
i . jﬁ - _ | y
Y7 | | 456" | | 456" !
INSWING ADJUSTABLE THRESHOLD 3 ) INSWING ADJUSTABLE THRESHOLD 2} INSWING ADJUSTABLE THRESHOLD
2 ZAI4565FN ZAILAA4565 ZAIAA4565FN

MAX. DESIGN PRESSURE = £35 PSF

MAX. DESIGN PRESSURE = £35 PSF

4.5¢" : !
INSWING ARTICULATING THRESHOLD 8

INSWING ARTICULATING THRESHOLD 9

4.56" I '
INSWING ARTICULATING THRESHOLD

w Outswing Bump Threshold

! 4.56" !

5 INSWING ADJUSTABLE THRESHOLD
ZAI4565RDS

INSWING ARTICULATING THRESHOLD

s ———————J '

LAC4565FN

IACLAA4565

IACAA4565FN

MAX. DESIGN PRESSURE = £35 PSF

MAX. DESIGN PRESSURE = £35 PSF

MAX. DESIGN PRESSURE = +35 PSF

10 ZIACA4565RDS

MAX. DESIGN PRESSURE = £35 PSF

4.56"

14 OUTSWING THRESHOLD

] o I ] @N
(= . LA . QLA
< = <
N f f
| 456" [ | 456" | - 456" ,! |
17 QUISWING THRESHOLD 12 QUISWING THRESHOLD 13) QUISWING THRESHOLD
ZOBL4565 ZOB4565FN ZOB4545RDS

FOB4566

ui
LY
€3 0
ke
£ w 59
Ex 2 wae
[ 29 Z"
0yl 0w OT
.o Z Zy
il
b dm
cg T RS yw
[}
3&‘ §8¢' gg
& by p--4
> HE8 aE
2 39
%o'-
. 5R”% 04
§ 8% §g
k] ogzg h-m
2 £mg Ok
]
g 32459
P 3ck 2k
o & 98
o
5 §§
E L
3 |...0
Q
[+
o
wy
=
O
g
O
e
wy
& 9
% ..
a o o
= o X
] sl ©
Mo
I
Qo
5 xl &
S o W
[ b
& %
[s R (2
0l s
Lo
"
)
o
&0
&)
3l
N
oo |n
A =z
0|0 O
£l |2
Nl
SR =
7]
2l
Eanl 5=
g
85
<
()]
SEE
NS
1o
z
oaTE: 10/31/18
scAlE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4895

SHEET 5 oF B

@ 2018 R.W. BUILDING CONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1011 Opaque Therma-Tru FG door XX (LK, DB) (4894-4895)\C - Drawings\TX-4894-95.dwg, 2-6

. HEAD ANCHORS: W
(E) W= #10 X 2-1/2" WOOD SCREW (PINE JAMB) .:g m
g0 2X FRAMING #10 X 3' WOOD SCREW (1-PIECE JAMB) g5, o
N0 (BY OTHERS) g Astragal Strike Plate £ 8 UB
879 \» TYP ), (TYP.) @ Head Jamb N 2 L2
H N a’
| r- (e | TR
- ( 7 T o E o = ':E_, % o0
| SEE HINGE I ] = L\ :i = 3 3 g:g nE
E DETAIL 1 - \‘ —{‘T N g5 EF
NT 1 DETAIL 1 % AN & 003 &
3 oE #10X 2.5" PFH WS y 25 sy
- § 592 Bp
DETAIL 1 & mg g5
_ . —— P i
o b =
N \fl _H W E g E
o JAMB ANCHORS: 1 /on £ )
N #10 X 2-1/2° WOOD SCREW [PINE/2-PIECE JAMB) P #8X2-1/2"PFH WS 3 S
#10 X 3" WOOD SCREW (1-PIECE JAMB) o [ ® a
& = 4| ‘—Q " é,‘ - hd
& #8XT'PFHWS <o ' o= #BX3/4"PFH WS
'\\___ " "
SEE HINGE ' . ' L xe e o
DETAIL 2 v g
<
- - HINGE DETAIL 1 S |y8
= o] <<
DETAIL2OR 3 \}‘ L § .JE_,
| " % | % | #8X2:1/2"PFH WS ) 2 g
\ / e LI @ | g S
B ‘ ] - ® |18~ o =
N NS ' (0 0 ES— ] #8X1"PFH wsé:‘ LSt 48 x 3747 PhH WS 2 z
— -\\___ 1t Ul
i« l SILL ANCHORS: J [T XAHINGE S
HINGE JAMB ey T #10X 2-1/2" PFH WOOD SCREW \ "
]| | 2" (TYP.) 1/4" X 2-3/4"ELCO OR o
FLOOR SUBSTRATE MATERIAL ITW CONCRETE SCREW HINGE DETAIL 2 &0
CONCRETE {MIN. 3000 PSi) Z ﬁg’
WOOD (G >=0.42) FRAME AI;!)SHORING o5
ol®l v
JAMB NOTES: ol B
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. *NOTE: These anchors required for D.P. > 40 PSF. g é %)
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. 4 LE o é
CONCRETE ANCHOR NOTES: 2 :
1. Concrete anchor locations at the corners may be adjusfed fo maintain the min. L?_ =
edge distance to mortar joints. . . . 3/16" X 2-3/4" ITW CONCRETE SCREW . . o 8
2. Concrete anchor locations noted as "MAX. ON CENTER"must be adjusted to OR ASTRAGAL PIN CAPTURE 3 >
maintain the min. edge distance to mortar joints, additional concrete anchors .
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) g "
3. Concrete anchor table: ASTRAGAL STRIKE S E
\ - 1o
S o\J _ ® S @ z
mggou 316 1-3/4" 3 -1/ = — - = = = oaTe: 10/31/18
nw ‘/4;: 1 3/4n 1_1/2n 4" SCALE: N.T.S.
TAPCON® ) owe. BY:  JK
ELCO 1/4;, 1_3/ " 'In 4" ]/2" DIA. HOLE DETA"- 2 DETA’L 2 DETA’L 3 CHK. BY: LFS
ULTRACON® “Outswing. T nswing “Inswing DRAWING NO.:
WOOD SCREW INSTALLATION NOTES: uiswing g swing TX—4895
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws fo prevent the splitting of wood. SHEET 6 OF 6 _

© 20718 R.W. BUILDING DONBULTANTS INDC.




